f¥# e
At HEKE 1,000,000MH
At IEA RBETE 100,000/
NS 500,000
A= LAKSHMI 100,000/
NS 1,000,000MH
TARATFER—=IT 4 v 7 XA 1,500,000
EREARERETHRASH 1,500,000/
ATy U AR S 1,500,000
A7 FHRASHE 1,500,000H
ARZ 27 ARA 4T 1,500,000
EEINES 1,000,000H
aMEEEE THKRASH 150,000/
ARZ 27 Y ARA S 1,000,000H
ANRTZ 7 7KK 100,000/
MR R 350,000/
A7 FHRA S 1,000,0004
TATFHHR—=IT 4 7 REA S 800,000/
ATy U AR S 500,000/
EEINES 1,000,000MH
ESINS 200,000

KAEHI= - FFF

1,500,000




TAT 4= U—R—IRA % 400,000

BARANRFERASH 10,000,000/




